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1. When a DNA molecule replicates, a chromosome is then made up of two sister _______. 

2. Eukaryotic DNA molecules are associated with ____________ proteins.
3. In general, the division of the cytoplasm, known as _______, occurs during telophase of mitosis.
4. In animals, meiosis produces ______ (name of the life cycle stage).

5. During prophase I of meiosis, a unique event occurs that results in the formation of recombinant chromosomes.  This event is termed _______. 

6. The stage of the cell cycle during which DNA replicates is called the _______. 

7. The chromosome complement for a triploid cell would be designated ______.

8. Asexual reproduction occurs by_______. 

9. The cell reproduction process that ensures that only one of each pair of chromosomes is included in a gamete is _______. 

10. The S phase always follows the _______ phase. 

11. The chromatin _______ during prophase. 

      12. In which phase of mitosis does the nuclear membrane disintegrate?
13. In plants, a _______ forms at the equatorial region of the cell during cytokinesis. 

14. An example of a viable monosomic condition is _________________. 

15. A zygote usually has _______ copies of each chromosome. 

16. A _______ is a picture of the number, form, and type of chromosomes found in a cell. 

17. A pair of _________________chromosomes have genes at the same loci coding for the same characteristics, though they may not be identical.
18. Nondisjunction of one chromosome pair causes the production of _______ cells. 

19. Synapsis occurs during ___________

      20. Bivalents would be found during which phase of mitosis or meiosis?
      21.  Homologous chromosomes separate during ______________.

      22. Sister chromatids separate during ____________ of meiosis and ____________ of mitosis

      23. Meselson and Stahl’s use of the isotope ______ showed that DNA __________
      24. Chargaff showed that ______ equals ______ in the DNA of many organisms.

      25. The experiments of Hershey and Chase used the isotope ______ to demonstrate that ________ (a molecule) entered E. coli and was therefore the genetic material.
26. Suppose Meselson and Stahl had grown E.coli on 14N, then switched them to 15N. What bands would they have seen in their centrifuge tube after the second round of replication?
      27. X-ray diffraction (crystallography) studies were done by _______________.

      28. The repetitive sequences at the end of many chromosomes are called _______.

29. The fragments of DNA made on the lagging strand are called _______.

30. ______ caused by exposure to UV radiation are corrected by an excision and repair process.

31. DNA replication requires the enzyme ______ to synthesize a primer, which is made of ________________.
32. The two strands of a DNA molecule are _______________ to one another.

      33. DNA is synthesized in the ______ (3’ to 5’ or 5’ to 3’) direction.
      34. In Griffith’s transformation experiments, the __________ strain of Streptococcus pneumonia was transformed to the _____________ strain.

      35. _______________________ showed that the transforming principle was DNA.

36. The _______________ strand is made in a continuous fashion during DNA replication.

37. The lagging strand is synthesized in _______________ fragments.

38. These fragments are put together by the enzyme ____________________.

39. A chromosomal mutation in which a whole segment of a chromosome is “lost” is known as a _____________________.

40. In a DNA molecule _______________ pairs with guanine.

41. An example of a purine is _____________________.

42. The backbone of the DNA helix is made of ___________ and _______________.


      43. A chromosomal mutation, in which a piece of one chromosome becomes attached to a non-homologous chromosome is called a ____________.

      44. The F2 genotypic ratio from a monohybrid (single-factor) cross is ______________.

      45. The F2 phenotypic ratio from a monohybrid cross, where one allele completely dominates the other is _______________.

      46. If an organism is true or pure-breeding, it is ____________ for a trait.

      47. Delaware Blue-hens, a result of incomplete dominance, have a ___________ genotype

      48. The alleles which cause type AB blood are ____________ to one another.

      49. The recessive phenotype of the ABO blood system is ____________.

      50. Of 160 F2 offspring from a dihybrid (two-factor) cross, how many display both recessive phenotypes?  

      51. In the F2 generation of a dihybrid cross, what proportion will display both dominant phenotypes? 

      52. What proportion will display the dominant phenotype for one trait and the recessive phenotype for the other?  

      53. To determine whether two genes are linked, it’s most practical to analyze the offspring from what kind of a cross?
      54. If organism A with dominant phenotype is crossed with organism B, whose phenotype is recessive, the offspring are in a ratio of half dominant phenotype and half recessive. Organism A was (homozygous; heterozygous)

      55. Two genes are unlinked – each shows complete dominance. A dihybrid organism is crossed with one that’s homozygous recessive for both genes. How many phenotypes, and in what ratio, will be found in the offspring

      56. Two genes A and B are 15 map units apart on a chromosome. How many recombinant offspring out of 1000 would be expected from a testcross?

       57. Two organisms heterozygous for each of 4 genes A, B, C, and D are crossed. What proportion is expected to be AABbCcdd?

       58. If you wanted to know the genotype of a plant which shows both dominant phenotypes (A_B_), you would do a testcross. What would be the genotype of the testcross parent?
       59. Tallness in pea plants is completely dominant to dwarf. A true-breeding tall plant is crossed with a true-breeding dwarf one and the offspring are then crossed with one another. One hundred pea F2 pea seeds are collected and grown. How many are tall?
       60. Colorblindness is sex linked recessive. A woman with normal vision has a colorblind father. What is the woman’s genotype?

       61. Suppose this woman marries a colorblind man. What’s the chance that if they have a daughter, she will be colorblind?

       62. Freckles is dominant to no freckles. Two people who hate their freckles marry and hope their child will be freckleless. What are the chances?
        63. Sickle cell disease is an autosomal recessive condition. Two normal people have a child with sickle cell disease. What is the child’s genotype?

        64. What’s the chance that their second child will not have sickle cell disease?

        65.  Two pure-breeding organisms, when crossed, produce a new phenotype – it is intermediate between the phenotype of the parents. What is the simplest explanation?
